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1. 1. Ifametal (Tungsten Filament) is heated to high b _L(rf,; el sk f (ponpp (34K Wi 1
temperature which of the Particles are emitted oyt? ‘Ut Ll )?;3 217
U S sl 7'.5;{ (D) neutrons 7% (C) protons ;F):{ (B) ectrons 74 (A)
both protons & neutrons .
2~ A100 watts bulb is connected to 250 volts supply. -« VW< JudAbs0 b L wis100 o -2
The current flowing through the bulb is amperes. Sy 2 dlségw wd 1
145 (D) 48 () 25 @) 0.4 (A)
3 -  Which of the following is not a processing? *‘4_ ..s'uﬁ_v—:.; J“Lﬁfa.. e J_:j.?JA'J -3
gathering ./ (D) caleulating tf.._..CC..,u (C) manipulating t./ 74 (B)  arranging k»..5> (A)
4- Foran ideal transformer, we can write that St & eﬂ'ﬂ g/ziiﬂ'fz’d_’iff' -4
Nk %Y v/ 5 Vo b
v, Ig (D) IS Iy ) P Ip (B) Vg I (A)

5.- The brightness of the spot on CRO flourescent -< r/d,-}” fuﬁ; Jc{/&*d{;ﬁw CRO -5

screen is controlled by _
positive potential of grid J"%:* E374 Kif (B) / anode 3.-|':f (A)
cathode 4% (D) plates = (C)

- Which of the following option is a stream of s/ 500 G2t ls 3T U = 9 J:i r -6

high energy electrons? ‘e “4,;
beta radiations 24, & (B) alpha particles )?4. @A)
positive ions ,‘P’T:?.J‘L_ (D) gamma radiations 2i54, 1 (©)

7- Two resistances of 6kQand12kQ are connected < ESUE L ywighi)y 10 S 12kQ 4 6KQ 7
In parallel across a 6 volts battery. The potential GIAL 5 4 6kQ e e 5 b s
difference across 0 k< resistance is volts. = U J:‘-jﬂsd""’sj

12 (D) 6 (C) 4 (B) 2 (A
8- The speed of light in air is approximately equal to ms1. - it?dﬁm i_,;)?)fh JL}’“,J[}':M -8
3x10° (D) 3x10° (C) 3x10°% (B) 3x10° (A)
9 - The speed of sound in solidis ______fimes greater 1/ Lo L urd e T A L9
as compared to gases. - nbJ
15 (D) 10 (C) 5 (B) 2 (A)
10~ The wave in which the particles of the medium move back Sl en L Cir AT 210
and forth along the direction of propagation of wave is called - dﬂ{____ < J:f S L MJJ}
light wave y, d-’ '-\u (D) radio wave y144, (C) sound wave 7 J}J,T (B) water wave y» Jd& (A)
» 11- The radius of curvature of a converging mirror is 20 ¢m. e K 5 20,5/ ST R4 € ptloss L1
Its focal length willbe ______ ¢cm. _Jﬁj-f Tl EE"LF:'J’! :
-20 (D) 20 (C) -10 (B) 10 (A)
12 - The electric field fines are used for the representation of -t dn Jo A I #/L.f,qw' f_______ -12
capacitance it (8) electric potential J* 241 (a)
potential difference (ﬁﬁJJ}‘-’;’ (D) éy,_l'/ electric field 4UJ,_/20) (©)
i R e b T 7
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Note: Section I is compulsory. Attempt any Two (2) questions from Section IL

2 - Write short answers to any FIVE (5) questions.

Vi -

vil -

Vil -

3 - Write short answers to any FIVE (5) questions.

vi-
Vi -

VI -

4 - Write short answers to any FIVE (5) questions.

i=

i -

V1 -
Vil -

viil -

Section -1 (il o

If time period of a simple pendulum is 1.99 second. u*f;o Ui P 21,99 i (L KHM- ff
Find its frequency. LG
State Hook's law. , Gy
What is meant by Damped Oscillations? ‘el Ve 5 43
Why are sound waves called as mechanical waves? i e 2’: ._)f’))‘! JLing S iy kil
Define intensity of sound. Write its unit. S ey g L ATy G N g

What is relay? How does it work? fe b/ rb’{_ = ‘< U (Relay) &,
What is difference between step-up fe O/ Y Lpaiii} N

and step-down transformer?

State Fleming's left hand rule. & Y (7! ;/}1. ¥ L

Wrile two uses of light pipes. @ gy £ e
Define the power of lens. Write its unit. & sy & )y )3_:'»&
Differentiate between regular and irregular reflection. e O/ il b st o a1
Define telecommunication. . RESEPA 0
Whatis a computer? Write down the names of its main parts, -2 FL Lo (e L Yl Ve zrf
Write two advantages of e-mail. sl JI-G

Write general equation and an example of beta-decay. .V Ji {i g it )22 J (Beta-decay).l b

- - il s i . i 2K,
Define nuclear fission reaction and write its equation. L&l Sl Pl 2y J u'f i J”'/fc

Lom e et IE T4
Define electric field intensity, E Sl
. % . i s .
Write any two factors that affect the ability of a LA KA g el REY &b J,m.;.-.(
capacitor to store charge. : 2 Nt diy

Three capacitor of capacitances SHI 41t ang Suf are soegsS o L uizaan€ S Spf g dpf 3pf

arranged in series combination to a battery of 6 volts. Lo lblin e Sk JJ’L 6= 3ty S
Find the total capacitance of series combination. .z P b€ (ol (22
Prove that: 1 kwh = 3.6 MJ 1Tkwh=36MJ :2f =
State Ohm's law. 25 Wk I ¥
What is the difference between D.C and A.G? fe IV EACHDC
Describe the function of electron gun in CRO, ok IS L -"’u;}?l £ CRO
How is NAND gate reciprocal of AND gate? S c:.r...)r ¢ (AND gate)d 2 (NAND gate)eS s

(i OUJ _ ) ’#_(07

Ly

(6x2=10) -Zfep2FLew ()61 §f-2

-1

-1
=1
-1v
-v
-vi

-vii

- Viii

(6x2=10) &/ fepiz Loy (5)§Lc §f-3

-1

-1l
- i
-1V
-V

-1
- Vil

- viii

(6x2=10) -Z Fepiz L iy G) LS -4

-1

-1V
-V

-vi
- vil

- viil

Wrs. .t s



Section -

5 - (a) What are optical fibres? Describe how total internal
reflection is used in light propagation through
optical fibres.

(b) Find the time period and frequency of a simple

pendulum 1 meter long at a location where g =10ms 2.

6 - (a) Define specific resistance

and prove that R =p &

A
(b) A point charge of +2 C is transferred from a point

at potential 100 V to a point at potential 50 V.

What would be the energy supplied by the charge?
7 - (a) Draw the circuit diagram of a burglar alarm

and explain its working.

(b) The activity of a sample of a radioactive Bismuth

1
decreases to 7 of its original activity in 15 days.

8

Calculate the half fife [T %J of the sample.
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K sk 2 oli S e §E S SV S ot s L f e B S I 3 Je
. 1. 1- If we double both the current and the voltage in a circuit Ln 2, 02900 A, PO PNy (2/7 -1 1
' while keeping its resistance constant the power sl I /l;@.-fé‘” sl
becomes half J Llbnoid (B) remains unchanged < tTufJ)qu! (A)
: becomes four times J byl J}_l; (D) becomes double lf ibw ¢ (C) -
2 If we burn one tonne of coal then about S s dor J g oy G Llle/,l’fu;uﬁ -2
energy is released -G
3.6x10'°7 (D) 2.6x10'°] (c) 1.6x10'0) (B 0.6x10'0) (a)
3-  The loudness of a sound is most closely related to its SN P A ol KA S - 3
amplitude 3245 (D) wave length i‘@;_‘.! (C) period Lz (B) frequency (%f ) (A)
't - AND gate can be formed by using two gates. < 2316 S AND ?q/db""l u:'r,u 2 -4
?.:;. G‘ﬁ:f J%

4 NAND gates (D) v NoRgates (©)  OR gates B) ¥ NOT gates (a)
: 5 - Which thing works on the principle of electro-magnetic J&rmﬁ&du ik sl J}Qﬁu@f{, z2uf -B

' induction in hydro-electric power house? e 3/ (edm Ll
generator %2 (D) motor /¥ (C) cell J= (B) battery (% (A)
6- Mouthpiece and earpiece are the parts of S22l EA S EEN -6
computer };_{ (D)  television w‘u}f (C) telephéne u?& (B) micro scope Yﬁf’t (A)
- Number of input terminals in NOT gate is e Ot S ) J)‘“)c-c ke NOT -7
4 (D) 3 (C) 2 (B) 1 (A)
8- A strong field lies in Fafaday Cage. -< b SPU I 241 Z. 6'/4_.3[/.:' -8

gravitational %5,/ (D) geometric (7 (C) magnetic Bl B)  electric S ()

) -~ The speed of light in water is o U A Juju e d& -9
1x108ms™! (o) 2x10°ms™ ©)  2.3x108ms™! (g) 3x108ms™! (a)
- 10- The part of a wave, where the particles of medium are & Fudies Lty Uz 20y -10
lowest from the mean position is called ~& t‘ﬂ:f_______ St lm
wave length 2y, (D) wave front =4/ 4 (C) trough i/ (B) crest & (A)
11 - Alternating current (AC) frequency in Pakistan is - o’*:-(/ J(AC)-'«‘/'-_@}'I e c)lﬂ’!; -11°
80 Hz (D) 70Hz (C) 50 Hz (B) 60 Hz (A)
12 - Which of the following quantity is not changed oSS e & o i & PG 12,
’ during refraction of light? ?0n J&
its speed Ly U1 (B) its direction <1 (A)
its wave length -3@;_’: ) its frequency 51 (C)

120-(111)-219-70000 | 6 C)J =D ;7
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Note: Section I is compulsory. Attempt any Two (2) questions from Section II.

Section - I dil_b

2 - Write short answers to any FIVE (5) questions.  (5x2= 10) ..é;;:.&lﬁfaéaﬂb' (5) é le J:(- 2

1- Calculate the speed of the wave, when frequency ¢ 2 Hz d"-:.f/',ﬁ' ér}”é: J;_u -1

 is 2 Hz and wave length is 0.1 m. i 01 m &5 s

ii- State Hook's law. ' E Yy -
iii - What is meant by restoring force? Sl Ve dbas?, -iii
iv - How can you define acoustic protection? Ut £ /S /""d_’ .?.TJ def Jr‘ -iv
v-  What s difference between musical sound and noise? S O WUt 2 ML v
vi- State Faraday's law of electromagnetic induction. _é Wl c%’r-" ..@'5‘;}9 I Kz..jl;:’ -vi
vii - Define ideal transformer. ' RZA NPT, JET v

viii - Write down any two factors which affect induced e.m.f. Nt $Enin ity em.f gkl - viii

3 - Write short answers to any FIVE (5) questions. (5x2=10) -c","-.}fa&l:!/ﬂé::awr (5) é be Jf— 3

i- Define accommodation. _z-’._yj",f‘ﬁfr‘? -i
ii- What is meant by farsightedness? e s Ve $F -
ini - Define resolving power. _i..gﬁ&sg J?:z; - i
iv- Differentiate between information technology _2_{ JiPU u"-’-'s.-ﬁ& 2l @Jl;é‘(ﬁﬂw'l -iv
and telecommunication.

v - Write two services of internet. @ el n Peds -y
vi-  Write any two advantages of e-mail. e LS -vi
vii - Define carbon dating. S LK vid
viii - Write two characteristics of beta (B) particles. _'é..-,g»‘;» JEJE Bt -viii

4 - Write short answers to any FIVE (5) questions.  (5x2=10) -;égf’ablﬁjfz:aﬂlr (5) ék e (jf- 4

1- Define Coulomb's law. 4 -..é,f/.’.Jc)}fé Y/

i - Define electric field intensity and write its unit. el Yl ﬁ-'_.gf‘"d/ ﬁﬂ:_’J}gl -

i - Write two uses of capacitors. A g L SrwnS  -iii

iv - Define electric current and write its unit. A Eoygins 3o S 9 v !
v- State ohm's law and write its formula. & s sl 25 gl gI6 Kl -v

yi - What is the difference between ohmic Se. g/ Ut J}fﬂ_ﬂulut sl s -vi

and non-ohmic conductors?

vii - Write the names of components of cathode ray oscilloscope. ..éfr'l: z, u“fr_rf. .'.:.:ﬁy‘.’sfg.;iﬁ{ -vii

viii - Define thermionic emission. ; Z ..g».‘y/.’.d’ S -fr_‘/ - viii
, - v‘ Y —
(i'dn) 6 (/ \7 / £7
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Section - IT

5 - (a) What is telescope? Explain its working (4)
and magnification.
(b) A simple pendulum completes one vibration in  (5)
2 s. Calculate its length, when g9=10 ms2
6 - (a) Discuss the main features of parallel combination . (4)
of resistors.
(b) A point charge +2 C is transferred from a point at (5)
a potential 100 v to a point at potential 50 v,
What would be the energy supplied by the charge?
7 - (a) Define OR gate. Explain it with circuit diagram, (4)
symbol and truth table.
(b) Carbon-14 has a half life of 5730 years. How long  (5)

will it take for the quantity of carbon-14 in a sample

1
to drop to § of the initial quantity?

120-219-70000
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Jc/’-"%?ui (EL Ui te _lf_(:ad.” ()
_é.:pu,

et/ s2s FALG bl (L)
9=10 ms2 & &£ b L1 s

T P Ty 5 P
-2 ok

L6 P 100V ety Laac i (L)
I{Jﬁ,;..:::l;.{.hﬁsov.:.;:ﬂ;
S Ve § @ s Cile - bl

Feellls ol s vt (OR) T (Ui
- ol A

-« JU 5730 Sy S 14-gk (L)
Lbnf F é Koo 15 18-
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